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Answer any one question.

1. Write a C program to find out the minimum cost path from vertex ‘a’ to vertex ‘j’ using Dijkstra’s
algorithm. Output corresponding cost and vertices comprising the desired path from vertex ‘a’ to

vertex ‘.
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2. For a weighted graph, as given below, write a C program to find out minimum cost spanning tree using
Prim’s algorithm. Print vertices forming minimum spanning tree and its total cost.

3. Write a C program to apply Kruskal’s Algorithm to find out the minimum cost spanning tree from the
graph below. Output the corresponding tree and cost of the tree.

4. Write a C program to generate possible shortest paths among all pairs of vertices using Floyd-Warshall’s
algorithm. Output vertices comprising shortest paths among each pair of vertices.
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5. Write a C program to apply DFS algorithm on the following graph.
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6. Write a C program to apply BFS algorithm on the following graph.
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